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SSC GD 2022-23

By selling an article at 18/25 of its actual selling price, a loss of 19% is
incurred. What is the profit percentage on selling it at its actual selling

price?

ToRET T Rt IUh AT [hT e d o 18/25 TR e WY, Ueh SATART hl
19% <R 211 2ielt 31 38 38k arEataeh sk 7o W S uR orer ufaera

FIT B2

a) 12%
b) 12.5%
c) 15.5%
d) 15%




SSC GD 2022-23

The average age of a husband and his wife was 20 years at the time of
their marriage. After 6 years, they have a 2 -year old child. Find the

present average age of the family.

foraTE & T Uek Ut 3R IWehT et shY a1 20 9 off) 6 W
TG, IAHT 2 Y T Teh ool gl TRER hl TAHT FTEA AT FT hITTl

a) 15 years
b) 18 years
c) 16 years
d) 20 years




SSC GD 2022-23

The average of 39% of A and 42% of B is equal to three-fifths of the
difference of A and B. Find B as a percentage of A.

A T 39% 3T B T 42% hT 3NTT A TR B ok X ok -l o STl

21 B T A o UTd9Td o ®9 H JTd hi<IU|

a) 50%
b) 75%
c) 25%
d) 150%



SSC GD 2022-23

Find the least number that should be added to 1014 such that the

resulting number can be divided by 3,4, 5 and 6 , leaving no remainder.
qE “IATH HEIT AT hi 1Y T 1014 H 39 TR ST AT Tk wiormHt
AT T 3, 4, 5 AR 6 & Forfre feram =i @k 2R I owe T @

a) 10
b) 6
c) 8
d) 54




SSC GD 2022-23

The compound interest on a certain sum at a rate of 12% per annum
for 2 years is ¥ 1,590. The simple interest on the same sum for double

the time period and at half the interest rate per annum is:

Tk (AT TST X 12% T o hY S 2 T ok ToTg Tshallg, AT T 1,590
1 FHT [T R ST ararater & forg ot ufe ot sorme g <y emeft

TTLRUT ST 2:

a) % 1,500
b) ¥1,800
c) % 1,600
d) % 1,400




SSC GD 2022-23

Two-thirds of half of three-eighths of a number is 40. What is 80% of

that number?

Toret HEaT & HH-31T3 e 9T o AT kT S1-fa2TE 40 T S G&AT 6T 80%

FATE?

325
428
128
256



SSC GD 2022-23

The cost price of a book is ¥ 250. If the successive discounts offered on
the book are 10%, 15% and 20%, then find the overall discount % of
the book.

Ueh Eeh T shdl Hod T 250 2| AT TdAeh U &t T ATt shideh D¢ 10%,
15% 3R 20% T, T TEdeh ohT THT BEY% AT hIT0l

a) 38.8%
b) 32.5%
c) 29%
d) 35%




SSC GD 2022-23

By selling an article for ¥ 7,281, a man loses 10%. At what price (in %) should he sell it in

order to make a profit of 10%?

TS & <Rl ¥ 7,281 W S WY, Ueh ATtk T 10% <kl BT BT 21 10% hT TH TSI ohi
foTu 30 38 ford hima WX (T H) I9FT aTiee?

a) 8,090
b) 7,799
c) 8,899
d) 7,299




How much time will it take for a sum of £ 900 to yield ¥ 810 as interest at 5% per annum

of simple interest?

¥ 900 <hT TTIT T 5% T TT ATLHUT SATH U, ST &k &Y H T 810 ITH hid W fehrd=T T0T

T?

SSC GD 2022-23

15 years
16 years
10 years
18 years
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The length, breadth and height of a box are in the ratio 4 : 3 : 2. If the length is increased
by 50% and the height is decreased by 40%, then the ratio of the new volume to the old

volume of the box will be:

TSk AT chl TS, TTSTE ST S7aTg ohT TUTA 4 @ 3 : 2 B TS SaTE W 50% oht Fheg shi FATelt
2 ST 3TE | 40% <hY HY Y et 7, A AT o TAT ST 3R YO ST T 31T
@TIT:

a) 3:2
b) 1:3
c) 11:8
d) 9:10
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A sum of money is to be distributed among A, B, C and D in theratioof 5:2:4:3. If A
gets T 1,000 more than D, what is C's share?

TS ST RT A, B, C ARD F AT 522541 3% SIJUTM A AT AT AL AR D &
1,000 3TTereh foeTd €, a7 C T (&&ar T 82

a) 2,500
b) ¥500
c) 2,000
d) % 1,000
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